0O O 0O O O O

~3,6/c
IOPS () =0,065* M
IOPS()=0,035* M

IOPS()=0,035* R* S

IOPS () =0,065* M

IOPS()=0,035* M +0,035* R* S

Axxon Next
1. /(IOPS) , IOPS Axxon Next.
AxxonNext 4 () 10., 10, ,
(.- )
IOPS Axxon Next.
~3,6/c
10PS IOPS()=0,29* N
0 0
IOPS()=0,035* M
I0PS
0
10PS IOPS()=0,29* N
IOPS()=0,035* M +0,035* R* S
* N-
* -,
* R- 1x, /;
* S— .
2. (RAID-) (write-back).
AxxonNext ,, , 0o ..
Axxon Next Windows 10 , Linux- 5.
0= 0*-* *351* (O* O

h-.
351=(60 *60 )/ (1024 )— /I,
n-

0- ..


https://docs.itvgroup.ru/confluence/pages/viewpage.action?pageId=184371039

640480 :

H.264 8 17
MPEG4 | 8 35

MJIPEG | 23 60

1 4- 25/ 640480, 24 H.264: 500 1
MPEG4: 500 2
MJPEG: 1.3 35

1 16- 12/ 640480, 12 H.264: 500 1
MPEG4: 500 2
MJPEG: 1.3 35

1 4- 25/ 1280960, 24 H.264: 2 4
MPEG4: 2 8
MJPEG: 53 14

()=D*T* (004 /);
()=D*T* (012 /);
()=D*T* (048 /);

=N*T*(05/)- ;
=N*T*(1/)- c;
=N*T*(5/)- ¢,

, 100 .

7 512.


https://docs.itvgroup.ru/confluence/pages/viewpage.action?pageId=198801531
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